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1)

2)

3)

4)

Integration of Political Science with other Socia Sciencesisabasic principle of
(A) Traditionalism (B) Behaviourdism

(C) Liberdism (D) Post- Behaviouralism
mmgaidmo@ﬁ 9IT TOWPRT DIRING LRR/RBTOION ATT WROLRT
3N

(A) OTHOCNTVT (B) =srowes

(C) ovzTmoT (D) =neFSpegtemend

Hobbes Theory of Social contract is explained in his book.

(A) Republic (B) Prince

(C) Socia Contract (D) Leviahan.

TOLT TOWPBF LWTOT %a%oéwmol ©RT B3 TWATHY DWOIURNT
(A) oTE B) 2

(C) Roeuoder” 590D, 7 (D) S0z

Who among the following said, “Liberty isthe opposite of over government”?

(A) Sedey (B) Prof. Ramsay Muir

(C) Laski (D) J.S.Mill

33 FSNI O30T “mojeiog@ 98¢ XTFTT é)dacs@mmmﬂd” @0@@38?
(A) 2ecse (B) we. Tode =RT

(C) = (D) d.o=. ne®

“The poor are poor ... not because of what they do not have, but because of
what they cannot do.” Who said this?

(A) HansSinger (B) AmartyaSen
(C) Mahboob ul Hag (D) HarshMander

“WTRIL WEHTN ATT...FOTTE BT DTZY, BRODY DOTHN TPIWL,
VT AFW), TRWRTFOPRY Q0LITHTN™ 0T BePTTTT?

(A) == aonT® (B) w=Ir e
(C) T0ReF v BT (D) z==F [owc
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5)

6)

7)

8)

Who said “Political Obligationisintended to includethe obligation of the subject
towards the sovereign”
(A) Bentham (B) T.H.Green

(C) Hobbes (D) Kant

“To8e0R ERFIONN TWTJFEPWIBR TENY GRFIONT), WP
mcgeswm&o@d” RO RELTIHTOTNY

(A) Zoze=r (B) &. F. N

(C) mowr, (D) oo

According to Plato, justiceis:
(A) Didgribution of goodsand services (B) Burdensand Benefits

(C) Punishment and retribution (D) One man, one class one duty
Fewdne T[T TFOT T,ONT[OTTE

(A) =TB DI ZeSNY DIT (B) Te0Rw =3 TodeekINnd
(C) 88 I AN (D) 22) B3 20w B[AF 2,00 FOF

According to Kautilya Thisis not the function of the State

(A) Acquisition of that which is not under its control and possession
(B) Preservation of what has been acquired

(C) Accentuation of what has been preserved

(D) Empirebuildingonly

TOeQ, ORT TFOT QT TOWT THONF DY

(A) 33, Do WD) FITIVTI, BITBRATRRYID

(B) =3TRAEROTBTT, TEABLNII

(C) T3RIROTWH T, TLRERRTT

(D) dex3© oo, d[IF

In which place did Jawaharlal Nehru organisethefirst Kisan March?

(A) Allahabad (B) Shivgadh

(C) Pratapgarh (D) Gorakhpur

o3 %@d@ BVTO RS IBORTBD BRTO FF 0TITZ, BOTUIFTI?
(A) ©oxTwRTE (B) &z=ng

(C) T=omm@® (D) Rwegerzdd
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9)  Which among the following marks Mahatma Gandhi’sfirst fast unto death?
(A) Ahmadabad Mill Strike (B) KhedaSatyagrahas
(C) JdianwalaBaghtragedy (D) Poonadail Strike
83 FYNIPNEY CIPPD TYMWOLODTT BSTTH0ET NVTTORT” T wRTO
NRSONTY

(A) ©TZEURT NS TNFI (B) Beww AR
(C) RODT owoIT PTOI (D) =eme moR® TN

10) Dr. B. R. Ambedkar did not found this political party
(A) Indian Republican Party
(B) Independent Labor Party
(C) Scheduled Cast Federation

(D) Dadlit Shoshit Samaj Sangharsh Samiti

To. . ST, @oaﬁecgpedwda 83 Towmdeodd TWIWIW, TRYRAQ
(A) aoROHT OTYTT =T

(B) 0oRToTEoer® ST Totds

(C) 3RRY, oF, FEIeHS

(D) TO3 3pead IR TOTIE HWd

11) ldentify thefirst woman PM of Britain

(A) TheresaMay (B) LizTruss

(C) KateWindett (D) Margrate Thatcher
QTS BRTO WD TEOIODZ, SR

(A) T3z e (B) 9w &=

(C) deer QTSeer (D) Bwnedess mosc’

12) Thiscountry isthe best example for unwritten constitution

(A) UK. (B) U.SA.
(C) France (D) Switzerland
33 m%ﬁ% ©ODT FONTODIZ, TROV

(A) o3 (B) O0.0F.R.
(C) = (D) agoenow
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13) The Federal Government of the U.S.A. Came into existence on:

(A) April 30,1787 (B) May 30,1787

(C) June 30,1787 (D) July4,1787

00T FOOINT xomq;scs ATOFTay) B3 QDTD0TTOTR @%g%é AlelAtcY
(A) Qe 30, 1787 (B) e 30, 1787

(C) =z 30, 1787 (D) ¢, 4, 1787

14) The Labour Party in Britain cameinto existencein thisyear

(A) 1011 (B) 1917
(C) 1799 (D) 1900
QA SewT TTHP) VITF WOT THRE

(A) 1011 (B) 1917
(C) 1799 (D) 1900

15) The method of amending the constitution by popular voteisfound in:

(A) UK (B) USA

(C) Switzerland (D) Russia

BT WITTT BROT FOLTRIBI, SHIR TRWSN TP B BeSTY
TOW WIS

(A) ong (B) ooz

(C) agdrow (D) o,

16) This statement isincorrect?

(A) Major part of the Indian Constitution has been taken from the Government
of IndiaAct, 1935.

(B) Therewere 10 schedulesinoriginal constitution
(C) Theprinciple of Rule of Law has been borrowed from Britain Constitution

(D) Article368isrelatedto the constitutional amendment

B3 TEPIOID ITONT

(A) &903 ZTORTRIT LIONBI), 19350 008 F50FT TO03) WO
SRTDIRITONT.

(B) &0o FoATRITY 10 oDRABVNYTH)

(C) TRAT BYFOD IIII, T FOLTTOOT DTB/ED JHODSONT

(D) 300 368 &RTT FOLTRIT SHRIRN FOLIOHAT
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17)

18)

19)

Thisright cannot be suspended during emergency too

(A) Right to Speech

(B) RighttoReligion

(C) Rightto Equality

(D) Rightto Lifeand Personal Liberty

88 BI, DAFTOIS0N FOTHFTYONR TRE BIWTB TRECONTD
(A) =7 mBOZT BH,

(B) wones =®)

(C) BRPTZ0D =Y

(D) e mone 35,03088 AWZ0Z.T R

In which of the following subjects, Rajya Sabha has got more power than
Lok Sabha?

(A) Ratification of President’srulein astate

(B) Creationof anew All IndiaService

(C) Creation of Legidative Council inastate

(D) Alteration inthe boundary of astate

88 FYNT O30R DTWOINTY anszswodw BReITLNOT %aﬁgﬁ ©9OTOT TRODTZ?
(A) ooz mﬁﬁéoﬁa BYBOD VBRI

(B) 033 ©Do T Fekne FA

(C) 20w TPBBY DT TORIS AR

(D) 200 TonE RRCDY WTPDE

The Supreme Court of India has the power to adjudicate disputes between the
Union and the States through

(A) Appellate durisdiction (B) Origina Jurisdiction

(C) Aadvisory Jurisdiction (D) WritJdurisdiction
REPEFBTVOIPOONY) 30T, W) TOTNT IWNT QITNET), VW3 [RVT
DR,00EF O WIS WHTOTB/I, TRODT

(A) QT ©QTT R (B) Rwe ©HwT W
(C) Rom ©HFT W (D) PRI BOTT R
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20)

21)

22)

23)

At present How many subjects are therein the Union List?

(A) 98 (B) 100
(C) % (D) 97
TRT T, DTODRD §e0T TP,

(A) 98 (B) 100
(C) 96 (D) 97

This state does not have bicameral legidlature

(A) Karnataka (B) AndhraPradesh
(C) Bihar (D) Tamil Nadu

83 DO%Y) QFTT TVATVONBI, BROVY.

(A) BRFwT (B) wog =@e3
(C) w=T (D) 3BT

In which house of the state legislature, money Bills are proposed?

(A) Any one of thetwo (B) In Both Houses

(C) OnlyinLegidativeAssembly (D) OnlyinLegidative Council
epio TOATOONT O30T ITITY TEOTOAD mmdn@m& mo@xmmgd?
(A) HTETY CIPYRTL woBTY  (B) 20BR ATINGD

(C) Qo BPoRY =wE (D) o8 TORSTY =wE

Thisisthe right method to create or abolish the legidlative council inthe states

(A) Passingthebill inLok Sabhawith ssimple majority

(B) Passingthebill in LegidativeAssembly with smple majority

(C) Passing the bill in LegidativeAssembly with absolute mgority along with
law passed by the Parliament

(D) Passingthebill in Rayasabhawithfull mgority

YW TIBNTY QDT TORID), FRAET 0T TT TR FOOIWT DGoTONTS

(A) AT WIPIBRODN AReTFLIONY IRTONT), TR TPBRTD

(B) =3¢ 2TIITROON DGOBFLIONY DBATONT, TAD B[ITWR)TD

(C) Qpp=FLIODY TOTeeer WIIITRODN TR TRRT  BARTONI),
RORST RPVT TWTHTVN TR WIBRPHT

(D) Zoeer ETIBHOOR TOBALIONY FRRTONTY, TR [PWTYTD
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24)

25)

26)

27)

28)

This hasthesmallest legidative assembly inIndia

(A) Skkim (B) Goa

(C) Manipur (D) Puducherry
QW LRTTTY wee ey @msmsosmq TRONT

(A) 280 (B) rRecs

(C) =edao (D) =bxHeso
Jurisdiction of Lakshadweep comes under the High court of this state
(A) Karnataka (B) Maharashtra
(C) Tamil Nadu (D) Kerda
OBOLTY T3 ToT YLETAPOONT WHTT méesgoﬁ LoVl
(A) BRFwT (B) mmma’é

(C) BwshTom (D) 3eoe

Who among the following strongly opposed the idea of Panchayati Raj system
inlndia?

(A) Dr. B. R. Ambedkar (B) JayaPrakash Narayan

(C) RamManohar Lohia (D) MahatmaGandhi

83 FYNTRTY IR LRTBRY TOTVODETOLTS QFTBR, 2OTIN QTRCATITN.
(A) . 0. 8T, workerdT (B) =00Tzoz® ToTo03ee

(C) 0o WNIReBT® Be0ST® (D) bz MoR

Who among the following isthe Minister of Rural Development and Panchayati
Ra in Karnataka (During July 2023)

(A) MalikarjunaKharge (B) PriyankaKharge

(C) D.K. Shivkumar (D) SatishJarkiholi

YWD TIFLIFTY MR 30BY TOW0NE TS XedWTNTIHT (20T
2023 TY)

(A) YzeRFT DRE (B) 0300%0 R

(C) 8.3 =TT (D) =8¢z :=TIBRY

|dentify the committee on Panchayati Rg appointed by Janata Government in
India

(A) Thungon Committee (B) L.M.Singhvi Committee

(C) Ashok MehtaCommittee (D) Gadgil Committee

PRTITY RITY AT TLIOT JNFROT TOLVONE Toee” 0eDT BNIODZ,
3SR,

(A) 3ons® Zawe (B) o OFF. 20{y AW

(C) widnes Dw T (D) ™ay =we
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29)

30)

31)

Thisisanincorrect statement about the Panchayati Raj Systemin India
(A) Gram Sabhaisthe foundation of this system.

(B) There are provisionsfor the reservation of seats.

(C) Minimum ageto contest the election is 25 years.

(D) Theterm of office of the Panchayati is5 years.

ZOTBTY TOWONE T wéwi@oja DOTOT B TEYE TN
(A) MOFRFICD B8 wéwﬁ@ofn SSBECITNTS

(B) m@:ﬂw DCHERETON BT TOSNOS

(C) Bo=mA BREALY BT WoDdA, 25

(D) T0w0NSCH ©QTOTHHOIN 5 IRE

This Article of the Indian Constitution provides for the Reservation in the
Panchayatis?

(A) Article243B (B) Article243G
(C) Article243D (D) Article243A
g0 RONTOIT 83 FOO FTOONETTIY meﬁm@oﬁ»&a ucﬁﬁmgcﬁ
(A) 320 243 @ (B) 3©0 243 2
(C) 320 243 & (D) 30 243 &

Who among the following was not a member of the ‘Syndicate’ group of the
Congress party?

(A) S Nijdingappa (B) Morarji Desai
(C) K.Kamarg (D) Y.B.Chavan

83 FYNTB/TY 3T TONRA TFW WOWTEEF MHOXT BBFHTINTIY.

[°8)

(A) o7 dxdonz (B) Hoosos Temood
(C) 3. zooVeET (D) . P
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32)

33)

34)

Given below are two statements.

Assertion (A): Model code of conduct is to be followed by political parties as
soon as an election is announced

Reason (R): Parliament enacted model code of Conduct

Choose the correct answer from the code given below.

Code:

(A) (A) and (R) aretrue and (R) isthe correct explanation of (A)

(B) Both (A) and (R) aretrue, but (R) is not the correct explanation of (A)

(C) (A)istrue, but (R) isfalse

(D) (A)isfdse, but (R) istrue

83 YR QTW TePINTD, ERTWORNT.

BITOTS: WIVVH FRCRFOINDT ST TOHOT TozedeoDd TN [PTO Aed
RO&HIOD, WDROFL TN

T0E0: FOFB) [PTO 8 FOLHIONT), TIRTINAT

83 YN BRI/ FOFEINYOT FOOIHT LOITI/I), S0, =P

FOBeBNLL:

(A) () DR (F9) HTRERR FOPNGI DB () (V)} FOTWT ITTFROITNT
(B) (X) IR (39) 2TBEH FOBPNES STI (F2)3y) (T)R FOIRT TTEITRNG
(C) (F) cIn TOIPNT STT (F0)ey) BOOSPNY

(D) (V) o TOPNY STT (F0)zy) OO

Thisis not true about Pressure groups

(A) Palitical organisations (B) Economic organisations

(C) Moral organisations (D) Organisationsof universa character
QW WBT TOOTONVT TOWOHATOZ AWTTRTY

(A) ToHICOD TOTLINLD (B) S6F3 Z0TUIIND

(C) 383 BoFTeLINW (D) =oRFs ©Ber BOFPLIMD

In which of the following state legidlative assembly elections electronic voting
machineswere used for thefirst time?

(A) KarnatakaL egidativeAssembly Election

(B) AndhraPradesh Legidative Assembly Election

(C) Tamil Nadu LegidativeAssembly Election

(D) KeraaLegidativeAssembly Election

83 FINT CIPT T, DOTALICD WTPWHNYY BRLWATO LION LIYT
DTODOTRTRY, WIFRLRCNB?

(A) BRFEIT QPOTILRD DIVBHBNAKY

(B) @03 Te3 QroSRgm RTORHN

(C) BN DPOTHLD DTIOTHBNLD

(D) 3e0%8 QTOTHLD DIOTJHBNLD
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35)

36)

37)

38)

Who is known as the father of electoral reforms in India?
(A) Tarkunde (B) Jayaprakash Narayana

(C) T.N. Seshan (D) Indrgit Gupta

O3 {PTITY WDTVRFD ATITFHON LTVVTTOWD TOWSTINTIVT?

(A) =RFoT (B) 203007 ToT000ED

(C) &. 2. BexS® (D) oTge e

How does public administration differ from business administration?

(A) Because of its management structure and process.

(B) Becauseof theamount of political and legal constraints on decision making.

(C) Theemphasison efficiency

(D) No difference between public and business administration.

TR TORFRIT STHYSH) stmd @Cé%égoé af:)?o&mﬂd?

(A) ©TT ATFIFHOD T3S 0T JFOHoWOomoN

(B) Q70rT SRmRRNIOD HedT Todecd W) FITRTIE W OTNY
BRIV OTON

(C) TEIoH Hed &3

(D) mBFHIT STBYZ D) BRTOF SEESNY IWW CIPPYTE BIOINY

Who wrote the book “ Congressional Government: A study in American Politics?

(A) Leonardo D. White (B) Mary Parker Follet

(C) Dwight Waldo (D) Woodrow Wilson

“BOORCA I NPTV & FRE A" V0T T TVAT WITTBITIT?
(A) OlpeTodinr @. B (B) 000 To3FT TSEF

(C) B =dne (D) R[Bee Qo

Chairman of the UPSC during July 2023

(A) Aravind Saxena (B) Pradeep Kumar Joshi

(C) Ra Shukla (D) Manoj Soni

2023 T weﬁé éoﬁ@@%oé 300 Boe3 Reaw SOSReNT @C%gdo O30T
(A) ©BR0T RmFemD (B) Sz 33T300° 2Eweed

(C) ooz 23y (D) RoJeeer e
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39)

40)

41)

42)

Which of thefollowing factors did not contribute to the evolution of the scientific
management theory?

(A) Lack of effective standards of work
(B) Lack of clear understanding of worker-management responsibilities
(C) Rule-of-thumb based decisions by the management

(D) Proper job design and economic incentives to workers

83 BYNT CIPW TOMEMED 3325908 AT BEDD ATYOZT DBITE, SRR AeRY.
(A) BOIT TOTORFTOO TOEATVLT 8T

(B) 30RMTT B ATFHBHIONT ReFOLRONY FOOIRT SDB[YFOD 8003
(C) IVFTHOONT TPROT TLTY BT STROT ITF TN

(D) BORT FOTT LTYF W) FOTMWTON SHFT TRLTIBIND

Thisisnot arecruitment Agency

(A) UPSC (B) IBPS

(C) KEA (D) KAT
QT NeTNTS ;f)o;\"’(gp DY,

(A) OIN.&.Q%F°.2 (B) . 2.20.0%°
(C) 3. (D) 3088

According to Barry Buzan and Richard Little the first full-fledged international
system was

(A) Sumerian city state system (B) Greek city state system

(C) Roman city state system (D) Indusvalley city state system
230, WORT W) 0wFF DS TRO Tpol [ BRTO TRF TIIVET
@oémé@fo& aéwﬁ@ QTN

(A) RoFeOoHT INT T, wéw:;ﬁ (B) New IMT ooty wéaﬂ@

(C) BT SN oo, wéaﬁ@ (D) &ozR wobdT INT Tz, wéwﬁ@
Thisisan element of the National Power

(A) Population (B) Leadership

(C) Ideology (D) Alltheabove

QT m%eojs 33O 2,00 WOTTNT

(A) uszoaﬁs (B) moocdsg

(©) ATROZ (D) F0edT IR
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43)

44)

45)

46)

47)

“When diplomacy ends, war begins.” Who said this?

(A) Adolf Hitler (B) Napolean Bonaparte

(C) HansMorgenthau (D) Mao Tse Tung

"SR TaKBR0EEY  WNFIONWRMMBIICINE AT STOIMIBL” DO
TCPTRTONY

(A) O Sot30” (B) [B0eO0nT dpesosods

(C) =T, Swrieogne (D) Rwedpeg o'

Which International Agreement gavefor the*first time’ legally binding targetson
reducing Greenhouse Emissions to the countries?

(A) Copenhagen 2009 (B) Kyoto Protocol 1997

(C) Durban Conference 2011 (D) RiodeJanerio 1992

3R @oéme@s@o& 2.TOTEY BRLRATO LN TATY BAVNY TRTIRRDBODI,
BRI mc&@dd %0z20 amaﬁ YT TOONYT, TeINYR eRS?

(A) 3eIFINT 2009 (B) &rae@irae BRLEIRTST 1997
(C) BuFs® ag)@a: 2011 (D) éoirae T w3008 1992

The concept of ‘credible minimum deterrent’ relates to which of the following
types of weapons?

(A) Chemica (B) Biologica

(C) Nuclear (D) Space-based
“QTRRRCOD BIF Brh” TOTOIOW B3 FYNT G370 De30D SOWMTNYT BOWORAT?
(A) TomPORAT (B) o3

(C) TT=oead (D) @Oé@@;ﬁ@é
The term of a non-permanent member of the Security Council is
(A) lyear (B) 2years

(C) 3years (D) 4years

P30 WOBYOD m%@ﬁgcﬁ ﬁcsxéd DTITRY

(A) 1 =& B) 2 I=F

(C) 3 ==F (D) 4 =

When did International Labour Organization become a specialized agency of the
United Nations Organization?

(A) 1945 (B) 1946
(C) 1947 (D) 1948
evsnIvpla @oém%eo:b TONFT ROTFLIFOIN @%ﬁoiéoja RJeR ﬁoféodmoméa?
(A) 1945 (B) 1946
(C) 1947 (D) 1948

M P-1166 [13] (P.T.0.)



48)

49)

50)

Theterm “Inner SIX” isrelated to

(A) NATO (B) ASEAN

(C) SAARC (D) EuropeanUnion

‘casp ,%3:’ Q02 5&@@ Cad%é TOWORRT?

(A) Svsme (B) =030

(C) =z (D) c30BRELODT CRRICDT®
This statement is NOT correct about the SAARC?

(A) First SAARC summit was held in Dhaka, Bangladesh

(B) Till date 19 SAARC summits have been held

(C) SAARC comprises 3% of theworld'sland area, 21% of theworld'spopulation
and 5.21% (USD 4.47 trillion) of the globa economy, (as of 2021 data)

(D) 20" SAARC summit will beheldin New Delhi

MFES DOTIT B3 BT TN

(A) ST WFE FRNEI FT (WROTR)TY SWENB

(B) 83 =B 19 =T ONALINYY, IEIONT

(C) m7r TToWT LATTBSTYS 3%, TTOWXZ RIFOB0N 21%, TIT0WT
SHETIOD 5.21% (4.47 ©DCOT TOT') B, TROVT (2021 T [PE0S0DOZ)

(D) 203¢ m&sr 3onALIHNW, SVIBINY IWRSRHIT

Full formaNAFTA is

(A) North American Free Trade Agreement

(B) North African Free Trade Agreement

(C) North Koreaand American Free Trade Agreement

(D) North American Fruit TradeAgreement

JTRT TROFTRT

(A) TFF 90T e 80T N0

(B) Tomr s50 e Eew ©needoesr

(C) oxF 3000300 ©OTF ©De0T e 3w BNEDoLF
(D) To7F ©R0e0TT® FRETF L WNee0ET
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10.
11.

12.

WPRENRER BeWIned

8.00.80°. VBT TP B3R 50 TIRIR, TROOWT IRTTL IPRT T,
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Note : English version of the instructions is printed on the front cover of this booklet.




